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Run 5452 quartetwise, posHQ: Beam DH

— pami lasl posks

— LEEEf DN Entries: &S Entries: 330575
— Mean: 14.2219 +- 0.0028 Mean: 1.4609 +- 0.0010 53057
[ — Laser OFF Std Dew: 0.B0BG +- 0.0020 | Std Dew: 0.2256 +- 0.0007 1.461
— S0 DBV 0.2256
: | | | | | | 1 | | | | J_ 11 | I 1 | | | | I | | | | |
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Run 5452 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 79975 Entries: 53057
| Mean: 30,6331 +- 0.0676 Mean: -0.1380 +/- 0.0446
- — Laser OFF Std Dev: 19.1807 +- 0.0480 | Std Dev: 103004 +- 0.0316
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Run 5452 quartetwise, negHO: Beam DIN

Positive Hel (ON): 14.221900 +/- 0.002859
Negative Hel (ON): 13.463305 +/- 0.002702
Positive Hel (OFF): 1.460878 +/- 0.000979
Negative Hel (OFF): 1.464296 +/- 0.000982
-------- Sums and Diffs

On Diff: 0.758595 +/- 0.001674

Off Diff: -0.003418 +/- 0.001108
On Sum: 27.685205 +/- 0.005306

Off Sum: 2.925174 +/- 0.001619
-------- Asymmetries
On Asym: 30.637899 +/- 0.067940 (ppt)
Off Asym: -0.138045 +/- -0.044757 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 24.760031 +/- 0.005547
BkSub Asym: 30.775944 +/- 0.081358 (ppt)

— Laser ON Entries: 79975 Entries: 53057 aomi_lach_nagha
— Mean: 13.4633 +/- 0.0027 Mean: 1.4643 +- 0.0010 53057
— Laser OFF Std Dev: 0.7642 +- 0.0019 | Std Dev: 0.2262 +/- 0.0007 1.484
— oo 0.2262
- 1 1 1 | 1 1 1 | L 1 1 [ 41 1 1 | 1 1 1 I 1 1 | 1
4 B B 10 12 14 16
-------- Histogram Vars
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Run 5452 quartetwise, posHO vs time
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Run 5452 quartetwise, asymQ0sub vs time
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Run 5452 quartetwise, negHO0 vs time
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Run 5452 quartetwise, bcm vs time
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